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Slide No.( 2 ) 

 

Team Notes : 
 

*No cons in the peripheral. 

*Extrasepectral colors : Colors other than red ,blue and 

green.  

*Black means  absence of light which means no wave length 

is coming out from an object. 

*In darkness we can see gray black and white so there are 

some waves coming out  from some objects. 

Fovea: It's a part of the eye, located in the center of the 

macula region of the retina, the area of the most visual 

acuity. 
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Cones’ type 

 
 

Sensation Pigment 
 (the rhodopsin) 

 
 

Wave length 
 
 

 

 

Blue cone system  
 
S pigment  
 
*Blue = (s)ky* 

 
Short wave length  

 
440nm 

 

Green cone system 
 
 

 
M pigment  
 
*Green=Far(m)* 

 
Medium wave length  

 
535nm 

 

Red cone system 
 

L pigment  
 
*red=App(L)e* 

 
Large wave length  

 
At 535nm 
or more 
=>535 
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Team Notes : 
 

Sensation of color :  

Certain wave length               stimulate certain cones    

stimulate nerve impulses with a certain frequency  to 

ganglion cells then to the  brain. 

*The frequency of the impulses depends on the wave length. 
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Slide No.( 6 ) 

 

Team Notes : 
 

 

= blue cones + Green cones +Red cones  (Equal  White color

amount of each system mixed together) 

wave length for the white color.no  So there is
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White  = same amount of each system  

Orange= 99% red + 42% green + 0 Blue  

             =99:42:0 

Yellow = 50% red+ 50% green + 0 blue 

               =50:50:0     

 

Blue     = 97% Blue 

             =0:0:97 
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   The names are impotent  
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Type  

 
Trichromats 

 

Have 3 cone pigments systems 
(Normal) 

Dichromats Have only 2 cone pigments 
Systems: 
*depending on the absent system : 

1)Protanopia(red- 
blindness) 

no red cones 
shortened  spectrum 

2)Deutranopia ( 
green - blindness)  

no green cones  
only long & short wave length 

3)Tritanopia ( blue 
- blindness) 

no blue  
cone 

 

Monochromats Have only one cone system 
or loss of all so see only black or grey or have no 
color perception. 
EX: Red-Green blindness. 

Nopia=blindness . 

Nomaly=weakness. 

Tri= 3 

Di=2 

Mono=1 
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*Red color is the commonest color blindness ! 

 

*IF there is Protanamoly which mean " weakness in red 

color" the person still be  Trichromats because he can 

see the red color . 

 

*IF there is  Protanopia  which mean " total loss of red 

color "  the person is Dichromats ,,  

 

*Color blindness in male is 8% while in female is 0.4% 

*Inheritance: 

 sex-linked due abnormal gene in the X chromosome 
 

*Persons with red-green blindness (Monochromats) 

have difficulty distinguishing between reds, greens and 

yellows but can discriminate between blues and 

yellows. 
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The answers : 

1= No red =Protanopia (Dichromat)  

2=No green=Deutranopia (Dichromat) 

3=no blue= Tritanopia (Dichromat) 

4=Monochromat  

5=Monochromat  

6=Monochromat (Red-green blindness)  

4 

5 

6 

1 

2 

3 

Examine 

yourself  
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                Questions : 

                           Q1)Which is correct about color blindness? 

                            a)Trichromats means red color blindness  

                            b)Dichromats means one of the color is lost 

                            c)Protanomaly means red color blindness 

                            d)protanomaly means blule color  weakness  

 

                    Q2)The frequency of the nerve impulses depends on ?  

                          a)Type of the cone system  

                          b)Wave length  

                          C)the type of the nerve  

                          D) A & B are correct  

 

 

                      Answers : 1=B 

                                         2=B  

                                         

 

 

 

 

 

 


